
𝒇(𝒙) = 𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄      ∆ = 𝒃𝟐 − 𝟒𝒂𝒄  𝒇(𝒙) = 𝒂(𝒙 − 𝒙𝟎)𝟐 + 𝒇(𝒙𝟎) 

 

 ∆ < 0 ∆ = 𝟎      ⇒    𝒙𝟎 = −
𝒃

𝟐𝒂
 ∆ > 0   ⇒   𝒙𝟏,𝟐 =

−𝒃±√∆

𝟐𝒂
 

𝒂 < 0 

 
 

 

Pas de factorisation 

𝒇(𝒙) = 𝟎 ⇒   𝑺 = ∅ 

 

 Toujours 

 négatif 
 

 

Maximum 
 
 
𝒇(𝒙) ≤ 𝒇(𝒙𝟎) 

 

 

 

𝒇(𝒙) = 𝒂(𝒙 − 𝒙𝟎)𝟐  

𝒇(𝒙) = 𝟎 ⇒   𝑺 = {𝒙𝟎}  

 
 Toujours 

 négatif 

 

Maximum 
𝒇(𝒙) ≤ 𝟎 

 

 

𝒇(𝒙) = 𝒂(𝒙 − 𝒙𝟏)(𝒙 − 𝒙𝟐)  

𝒇(𝒙) = 𝟎 ⇒   𝑺 = {𝒙𝟏; 𝒙𝟐}  
 

 Signe 

  

 
Maximum 
𝒇(𝒙) ≤ 𝒇(𝒙𝟎) 

 

 

 

 

𝒂 > 0 

 
 

 

Pas de factorisation 

𝒇(𝒙) = 𝟎 ⇒   𝑺 = ∅ 

 

 Toujours 

 positif 
 
 
 
Minimum 
𝒇(𝒙) ≥ 𝒇(𝒙𝟎) 

 

 
 

 

𝒇(𝒙) = 𝒂(𝒙 − 𝒙𝟎)𝟐  

𝒇(𝒙) = 𝟎 ⇒   𝑺 = {𝒙𝟎}  

 
 Toujours 

 positif 

  
Minimum 
𝒇(𝒙) ≥ 𝟎 

 

 

𝒇(𝒙) = 𝒂(𝒙 − 𝒙𝟏)(𝒙 − 𝒙𝟐)  

𝒇(𝒙) = 𝟎 ⇒   𝑺 = {𝒙𝟏; 𝒙𝟐}  
 

 Signe 

  

Minimum 

𝒇(𝒙) ≥ 𝒇(𝒙𝟎) 

 

𝑥0 

× 
𝑓(𝑥0)  × 

 

𝑥 −∞  +∞ 

𝑓(𝑥)  −  

 

 

𝑥 −∞  𝑥0  +∞ 

𝑓(𝑥) − 𝟎 − 

 
𝑥0 

× 
𝑥0 
 

𝑓(𝑥0)  × 

 

𝑥 −∞ 𝑥1  𝑥2 +∞ 

𝑓(𝑥) − 𝟎 + 𝟎 − 

 

 

𝑥 −∞  +∞ 

𝑓(𝑥)  +  

 

 

𝑥 −∞  𝑥0  +∞ 

𝑓(𝑥) + 𝟎 + 

 

𝑥0 

× 

𝑓(𝑥0)  × 

 

𝑥 −∞ 𝑥1  𝑥2 +∞ 

𝑓(𝑥) + 𝟎 − 𝟎 + 

 

×  𝑓(𝑥0)   × 
𝑥0 
 

× 
𝑥0 
 

 

𝑥 −∞ 𝑥0 +∞ 

𝑓(𝑥) ↗ 
𝒇(𝒙𝟎) 

 ↘ 

 

 

𝑥 −∞ 𝑥0 +∞ 

𝑓(𝑥) ↘ 
 

𝒇(𝒙𝟎) ↗ 

 


